@3‘3 Aerial Cam Unit General Description of UCMSV

C

VDI-BAK STANDARD

)

- 60, 85, 110, 165, 200, 250, 300, 350 and
400mm mounting widths are available.

- Available angles are from 0° to 75° in
increments of 5°.

- Gas spring can be removed from the cam
whilst in the die / press.

- Complying with VDI-BAK specification.

-
BUCMSYV Specifications
Mount face| Working Travel | Working Force Mount face|Working Travel | Working Force Mount face|Working Travel | Working Force
W | H | Angle kN(tonf) W | H | Angle kN(tonf) W | H | Angle kN(tonf)
00 | 19.3 00 | 32.1 00 | 38.6
05 [ 21.3 05 | 355 05 [ 42.6
10 [ 23.3 10 | 38.9 10 | 46.7
15 | 25.4 15 [ 42.4 15 | 50.9
20 | 27.6 20 | 46.1 20 | 55.3
25 [ 30.0 25 | 50.0 25 | 60.0
30 | 326 30 | 54.3 30 | 65.1
35 [ 35.4 75 35 | 59.0 171 35 | 70.8 364
60 | 100 45 386 | (7.6) 165 1 15 40 [ 643 | (17.5) 300 | 185 45 1774 | (37.1)
45 | 42.3 45 | 70.4 45 [ 84.5
50 | 46.7 50 | 77.8 50 | 93.3
55 | 52.3 55 | 61.0 55 [104.6
60 | 60.0 60 | 40.0 60 |120.0
65 | 71.0 65 | 47.3 65 | 94.6
70 | 58.5 70 | 585 70 | 7341
75 | 77.3 75 | 58.0 75 | 96.6
00 | 19.3 00 | 32.1 00 | 386
05 [ 21.3 05 | 355 05 | 426
10 [ 23.3 10 [ 38.9 10 | 46.7
15 [ 25.4 15 | 42.4 15 | 50.9
20 | 276 20 | 46.1 20 | 55.3
25 | 30.0 25 | 50.0 25 | 60.0
30 | 326 30 | 54.3 30 | 65.1
35 | 354 100 35 [ 59.0 218 35 | 70.8 405
85 1110 ™40 386 | (10.2) 200 | 115 40 (643 | (22.2) 350 1185 40 [ 771 (41.3)
45 | 42.3 45 | 70.4 45 | 84.5
50 | 46.7 50 | 77.8 50 | 93.3
55 | 52.3 55 | 52.3 55 | 87.2
60 | 60.0 60 | 60.0 60 | 90.0
65 | 71.0 65 | 71.0 65 | 94.6
70 | 585 70 | 585 70 | 87.7
75 | 77.3 75 | 77.3 75 | 96.6
00 | 32.1 00 | 321 00 | 386
05 | 355 05 [ 355 05 | 426
10 | 38.9 10 | 38.9 10 | 46.7
15 [ 42.4 15 [ 424 15 | 50.9
20 | 46.1 20 | 46.1 20 | 55.3
145 |25 [ 50.0 25 | 50.0 25 | 60.0
30 | 54.3 30 | 54.3 30 | 65.1
35 | 59.0 150 35 | 59.0 284 35 | 70.8 450
110 20 | 643 | (15.3) 250 | 115 740 [ 643 | (29.0) 4001155 740 [ 77.1 | (45.9)
45 | 70.4 45 | 70.4 45 | 845
50 | 77.8 50 | 77.8 50 | 93.3
55 | 87.2 55 | 52.3 55 |104.6
60 |100.0 60 | 60.0 60 |120.0
140 |65 [ 946 65 | 71.0 65 | 94.6
70 | 81.9 70 | 585 70 | 734
75 11082 75 | 77.3 75_| 96.6

1637

BUCMSV60/ 85/ 110 Assembly Instructions

UCMSV60 : ({4
UcMmsvss

UCMSV110: (1)

For Tool Setting Only Remove
before 1st Press Cycle.

UCMSV60 :
UCMSV85 :
UCMSV110:

® Disassembly
1) Remove Hexagon Socket Head Bolts (@), to pull out Stopper Plate ( UCMSV60: (8, UCMSV85: (9,
UCMSV110: @ ).
2) Pull out and remove Cam Slider (@) from Cam Holder ( UCMSV60: 9, UCMSV85: 10, UCMSV110: ()
to the rear.

® Assembly
Assembly is the reverse procedure of disassembly.
- Ensure that all parts are clean, particularly the sliding components to which a small amount of lubricant is
applied and is then placed in position.
- Take care that the respective tolerances are observed when assembling Cam Slider and Cam Holder,
which also should be identified by the same serial number.
- Make sure that all bolts are tighten to the recommended torque after assembly and disassembly. 1638



1639

VDI-BAK STANDARD

HUCMSV165/200/250/300/350/400
Assembly Instructions

UCMSV165 Q0
UCMSV220~400 : (17

For Tool Setting Only Remove
before 1st Press Cycle.

® Disassembly

1) Remove Hexagon Socket Head Bolts (@), and remove Safety Plate ( UCMSV165: 20),UCMSV200~400: (D ).
2) Remove Hexagon Socket Head Bolts (®), and remove Stopper Plate (19).

3) Pull out and remove Cam Slider (@)) from Cam Holder (®) to the rear.

® Assembly
Assembly is the reverse procedure of disassembly.
- Ensure that all parts are clean, particularly the sliding components to which a small amount of lubricant is
applied and is then placed in position.
- Take care that the respective tolerances are observed when assembling Cam Slider and Cam Holder,
which also should be identified by the same serial number.
- Make sure that all bolts are tighten to the recommended torque after assembly and disassembly.

BUCMSV60/85/110 Removing gas spring

Remove the screws of the
spring stopper (A]

Remove the gas spring backward [C]

Slide out the spring stopper

BUCMSV165/200/250/300/350/400 Removing gas spring

Remove the gas spring backward [D]

Slide out the spring stopper [C]

-Screwthe mounting lever [A]
-Remove the screws of the
spring stopper

1640



Aerial Cam Unit

SANKYO

1697

( VDI-BAK STANDARD ) E
UCMSV350 (00°~45°) h 6 | Travel A B © E F G H J
H +0.05 4-$90-432 00 38.6 395.00 235.00 160 85.00 290.00 | 117.5
180005 P 05 | 42.6 | 409.62 | 254.62 | 155 95.02 | 279.98 | 126.0
390 340
T 10 46.7 414.52 274.52 140 104.67 270.33 136.1
@’ | | \Ey 15 50.9 408.60 293.60 115 113.76 261.24 | 147.7
30 10 ¢ 1 =0 20 | 553 | 42292 | 312.92 | 110 | 12221 | 252.79 | 160.8
- A 25 60.0 421.583 | 331.53 90 129.96 | 245.04 | 175.3
% - — § c 5 § 30 65.1 418.50 348.50 70 136.94 238.06 | 191.2 410 360
© 9 N 35 70.8 415.89 365.89 50 153.12 221.88 | 198.2
E Te i r 40 771 410.78 380.78 30 168.43 206.57 | 206.2
= L7 ! — 45 84.5 405.25 395.25 10 182.84 192.16 | 215.1
(D - ©
\
/é ) g 0 a ;
© o 2 v Working Force | Return Force Spring
25005 Jaoo2 a o kN N(kgf) CatalogNo. | (W) | 0 |5 pg
©
: X ‘ 42142 (4300.2) 00
. ? ? A ? /® 42067 (4292.6) 05
os c‘; \ 41988 (4284.5) 10
e g 41904 (4275.9) 15 GS
o) i1 1l A <)
~ O (T Bl - BAL 41816 (4266.9 20 GK
oT—Hm y 405 (426591 ucmsv | 350
DBE_| \==7 41725 (4257.7) 25 GD
. s — 41632 (4248.2) 30 *NGP
S ~2 41537 (4238.5) 35
g2 e e W ke @ 41442 (4228.7) 40
o 0P s w 41346 (4218.9) 45
© . Mark * Without gas spring but accessories for installation of each type are included.
[¢] 9
b i
D | S T = | opae LCtal0gNo. || W) |~ 6 |- Ps |
T T T T raer
63 &/ 5 o T \ UCMSV 350 — 25 — GK
C=o. B . . .
o W Spring Specification (Qty 2)
" 20 175 Spring Type P Spring Force N(kgf) Model
= 4490432 PS Initial Force| Final Force
J)' 105 +0.02 ~Pee-
63/ & GK 26800 (2734.7)| X1000-080-TD  (KALLER)
5 T P GD 00~45 — | 31225 (3186.2)| U.1200.080.TO (DADCO)
s ’J_H_‘ e GS 31400 (3204.1)| SFC.1000.80  (SDT)
+I
[Te]
N~
= - T Option M Key Specification
o & +o- 8
0 S ] 2
® & 30 30 . ot . it
i Code Specification N Parts I|§t is shovyn in p.170§3 W
» Cam diagram is shown in 33 {%*'_ |
K Dedicated key is attached. p.1701 cw:u’ ———@—— TH [
Fan) L A i in uni ' -
Q. |9 @ﬂ (|t.IS notassemblled to the main unit) - NF : Gas Springs are not 4 - ; 9:‘[ E
65005 <“ NF Nitrogen gas is not charged. filled with nitrogen gas if
Applicable to GK, GS and GD only delivery is by air freight 14 UCMSV
115005 2-420H7 = yisby gnt. . G
230 +0.05 Q order UCMSV350 - 25 - GK - NF (with M8X 15 bolt)
1698

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



(= Aerial Cam Unit
( VDI-BAK STANDARD ) E

h 9
UCMSV350 (50°~75°) Travel A B C E F G S
102008 50 | 933 | 397.37 | 407.37 | -10 | 201.32 | 173.68 | 219.8
55 | 872 | 398.61 | 418.61 20 | 21469 | 160.31 | 2006 | 60
180+0.05 4409430
TTIT 60 | 90.0 | 392.76 | 427.76 | -35 | 235.67 | 139.33 | 200.3
S I B i 65 | 946 | 398.83 | 438.83 | -40 | 255.31 | 119.69 | 200.9 | 40
) —= 3 @ 70 | 877 | 39478 | 44478 -50 27453 | 10047 | 2012 |
% ! 0 75 | 96.6 | 39455 | 44955 | .55 | 29521 | 79.79 | 199.4
- — | g
< B = g
™ N Working Force | Return Force Spring
% KN N(kgf) Catalog No. (W) 6 Type PS
2 & | C| 41250 (4209.2) 50
&l . D 43059 (4393.7) 55 GS
T & -
S \»O g o 48747 (4974.1) 60 GK
< S 405 UcmMsv 50
254005 360+0.02 é 52806 (5388.3) & g 65 GD
*
. i - 59962 (6118.6) 70 NGP
T ? A 7@ /L 67961 (6934.8) 75
2 \ \ / G @ /72 Mark * Without gas spring but accessories for installation of each type are included.
& 7
kv, U . ﬁ) & | catalogNo. || W) |-[ 6 |-[ Ps |
T e el g | B [T ] € o
:' . © ( Wl :Q W; j I E UCMSV 350 — 60 — GK Option
@ﬁ%&%l\ Jop L FRIE| W Spring Specification (Qty 2)
=1 R w " es .
o — | T L | | @ I.—D_ T Spring Spring Force N(kgf) Code Specification
ﬁ _l\ \ Type '} Model n .
2 Cuo1 PS Initial Force| Final Force K | Dedicated key is attached.
® 2 N EO0) (Itis not assembled to the main unit)
o) - / ® © GK 26800 (2734.7)| X1000-080-TD (KALLER) i ot charced
_ & ? T | _ itrogen gas is not charged.
© . N > S \ . GD | 50 31225 (3186.2)| U.1200.080.TO (DADCO) NF | poplicable 1o GK. GS and GD onl.
© : EV W GS 31400 (3204.1)| SFC.1000.80  (SDT)
0 AT GK 25733 (2625.8)| X1000-075-TD (KALLER) = | o P
& T o XD \@ GD | 55 —  [30107 (3072.1)| U.1200.075.TO (DADCO) \ o UCMSV350-60-GK - NF
GS 30133 (3074.8)| SFC.1000.75 (SDT) N _
B .
GK 26257 (2679.3) | X1000-063-TD (KALLER) m_zzr: Z?:Srj:vivsn 'S';]Evlzoi
o .30 175 GD | 60 — | 30746 (3137.3)| U.1200.063.TO (DADCO) o1 9
g T05s0m 4-922-432 GS 30857 (3148.7)| SFC.1000.63 (SDT) .Z'F - Gas Sorings are nof
63 & GK 25384 (2590.2)| X1000-063-TD (KALLER) o n‘i’trogen o
ST ed GD | 65 —  [29681 (3028.7)| U.1200.063.TO (DADCO) oo airirei ﬁt
4 i GS 29651 (3025.6) | SFC.1000.63  (SDT) yis by gnt.
‘ J GK 24880 (2538.8)| X1000-050-TD (KALLER) o
1 d S GD | 70 | — [29212 (2980.8)| U.1200.050.70 (DADCO) M Key Specification
.- g GS 29120 (2971.4)| SFC.1000.50  (SDT) 5
3 8 %0 T 50 GK 23800 (2428.6)| X1000-050-TD (KALLER) /ﬂk
GD | 75 — | 27870 (2843.9)| U.1200.050.TO (DADCO) 53 g e
GS 27600 (2816.3)| SFC.1000.50 (SDT) o "’@*’ ””jT -
A i <=
< rJ\| [ Ay 50 9
65+0.05 C}o 14 UcMSV
115z0. _|2-#20H7 (with M8x 15 bolt)
+0.05 350
230=0.05
L )
1699 1700

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved. Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



@

VDI-BAK STANDARD

>
28
[y}
o
=2
728
OQ«
O\—’
™
g1
o
=
858 ©o|l—-|o|lo|lo|lo|lt|~o|vl=-|lojlo|olo|o
- OO OIN|N|F| O|INO|OD|O|IO|O|O|O|O
R R R R e R R KA R A RS R RSO
OIWUO
00505050505050505
o OO~ NN ®M|T | T O WLO|O©|N~MN~
<t
on®
1)
©
o
o
. £¢6 o
&1L ©
)
L -
o g
oQ % m o o
% 5
.0 Q
g o«
S
3 . /e -
o) o o
© N~ |
!
g4 o5& -0 0
& <07 ’ vz
|
9% A 09 g
3
%
N U
o
< ) o, 2 N
[25 ) S © A
o [To) [=) 0
— (aV} < Te}
St ° 20
% [ & | 02 e ¢
g
ﬁ -~ g Sz
/ ©
N
g o o
o) o ®
) %) & @eo
[1o) o [To) o
o « ™ rs)
®© 3 00 °0g
5 9/ L'es
©|
q O
0| g ~
™ (=) [«) >
% 2 & © &
o o o
o — (ep]

1702

1701



1703

Slide Plate(VSM-14)

Bronze with Graphite

Slide Plate(VSM-31)

Bronze with Graphite

Slide Plate(VSM-14)

Bronze with Graphite

Slide Plate(VSM-34)

Bronze with Graphite

Slide Plate(VSM-31)

Bronze with Graphite

Slide Plate(VSM-25)

Bronze with Graphite

Slide Plate(VSM-34)

Bronze with Graphite

Positive Return Plate

S45C

Slide Plate(VSM-24)

Bronze with Graphite

Cam Slide Guide(Lower)

S45C

Positive Return Plate

S45C

Gas Spring

Refer to the specification table

Cam Slide Guide(Lower)

S45C

VDI-BAK STANDARD
M6 =00°~45°
No. Description Qty| Material and Remark
@ |Cam Driver 1 |GGG60
(® |Cam Holder 1 |GGG60
(® |Base Plate R 1 |S45C
@ |Slide Plate(VSM-15) 2 |Bronze with Graphite
® |Key 4 [SS400
@ |Key 2 |SS400
@3 |Base Plate L 1 |S45C
{3 |Stopper Plate 1 |S45C
@5 |Stopper 4 |Urethane(PCU20)
() |Safty Plate 2 |S45C
@3 [Lock Block 1 |SS400
Hexagonal Bolt 1 |SCM435 M16x150
@0 |Hexagonal Nut 1 |SCM435 M16
@) |Cam Slider 1 |GGG60
@ |Spring Guide 1 |s45C
@ |Gas Spring Guide Plate 1 |S45C
vz 2
® 2
@ 2
@ 2
@ 2
30 1
@ 2
®

Slide Plate(VSM-20)

N

Bronze with Graphite

Gas Spring

Refer to the specification table

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

a Bolts for assembly are not indicated.

W6 =50°~75°

No. Description Qty| Material and Remark
@ |Cam Driver 1 |GGG60

(% |Cam Holder 1 |GGG60

(® |Base Plate R 1 |S45C

@ |Slide Plate(VSM-15) 2 |Bronze with Graphite
® |Key 4 [S5400

@ |Key 2 |SS400

@3 |Base Plate L 1 |S45C

3 |Stopper Plate 1 |S45C

@5 |Stopper 4 |Urethane(PCU20)
() |Safty Plate 2 |S45C

@3 [Lock Block 1 |SS400

@9 |Hexagonal Bolt 1 |SCM435 M16x150
@0 |Hexagonal Nut 1 |SCM435 M16

@) |Cam Slider 1 |GGG60

@ |Spring Guide 1 |s45C

@ |Gas Spring Guide Plate 1 |S45C

2] 2

® 2

@ 2

@ 2

@ 2

30 1

@ 2

®

Slide Plate(VSM-19)

N

Bronze with Graphite

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

a Bolts for assembly are not indicated.

UCMSV
350

1704





